SECTIONH

ENROLLEES

07/28/95

Section H (MEF) isadministered for each (sampled) plan. If offered at more than onelocation (sampled
or not), section H isasked both about the company (000) and for each sampled establishment (001, 002...)
If the plan is offered at only 1 location, Section H is administered at the estab (001) levd.

SEGMENT = SPEN

DISPLAY BOX ON SCREENS H1 TO H11. FOOTER (ESTAB ADDRES) ONLY SHOWS FOR
ESTAB LEVEL (001, 002...).

IF MEF, THE FOLLOWING PLAN LEVEL VALUES ARE COPIED TO THE CURRENT SPEN
SEGMENT. THISISTORECORD THEVALUESOFPLAN LEVEL VARIABLESAT THETIME
THEY ARE USED TO DETERMINE H SKIPS.

IFPLAN.COFAMILYO0=1, SET SPEN.FAMLY<0=1(COMPANY LEVEL FAMILY COVERAGE

ENROLLMENT = 0)
IF PLAN.COCOBRAO = 1, SET SPEN.COBRAOCO = 1 (COMPANY LEVEL COBRA

ENROLLMENT = 0)

PYEND: GLOBAL DISPLAY - DEFINED IN SECTION D TO INDICATE HEALTH
INSURANCE PLAN YEAR. IF D9=2, “the year that ended DIOMONB, D10Y EARB”, else“1993".

TADDR: GLOBAL DISPLAY -INDICATESESTABLISHMENT'SADDRESS, “CURRADDR,
CURRCITY, CURRST”
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COMP_ORG: GLOBAL DISPLAY --"company" if B8 = 1, else "organization”

AT_LOCAT: GLOBAL DISPLAY - “at thislocation” IF SOURCE = 2 (COG) & B1 =2 (NO
OTHER BRANCHES)
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DISPLAY1: " " FOR SEF, ELSE FOR MEF, "The information | need isfor your { COMP_ORG}
atogether” IF SECTION IS COMPANY LEVEL (000). IF ESTAB LEVEL (001, 002...) "The
information | need is for the { CURRNAME} { TADDRY} location only".

DISPLAY2: " " FOR SEF, ELSE FOR MEF COMPANY LEVEL (000), “[PROBE: Thiswould
include all locations considered part of your { COMP_ORG}." NOT SHOWN FOR ESTAB LEVEL
(001, 002...)

NOTE: Introduction is only displayed for SEF/GOV cases. Lack of room on MEF screen.
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[ASK TO SPEAK WTH R. WHEN R ON PHONE, READ | NTRODUCTI ON. ]

{My nane is {INTERVIEWMER NAME} and | am calling for the United
States Departnment of Health and Human Services regarding a study
about health benefits. This study collects information on the cost
of providing health benefits to enployees. Results will be used to
devel op estimates of health care spending and to evaluate health
care reform}

HGATE1l. (HGATELF for MEF company level. HGATELE for MEF establishment level)

The (next/first) questions are about the number of employeesenrolled in {PLAN NAME} at
theend of {PYEND}. {DISPLAY1} ?

Would you be able to answer these questions?
{ DI SPLAY2}
(1)

1. CONTINUE SECTION H WITH {RESPNAME} (SKIP)

2, SKIP SECTION H, GO TO {RESPNAME'S} NEXT APPROPRIATE
SECTION (HGATE2)

3. GO TO QUESTIONNAIRE MANAGEMENT SCREEN (QMYS)

{9. CONTINUE WITH H2 ONLY} (H2) (SHOWN FOR MEF ESTB
LEVEL ONLY.)

GT. GOTORESULT

8. (NOT DISPLAYED - FOR DATAPREP PURPOSES ONLY.

INDICATES SECTION WASNOT ASKED AND -9OWASASSIGNED
TO APPROPRIATE QUESTIONS IN THISQUESTIONNAIRE
SECTION OF PARTIALLY COMPLETE PLAN.)

88. (NOT DISPLAYED - FOR DATAPREP PURPOSES ONLY.
INDICATES SECTION WAS NOT ASKED FORTHIS
QUESTIONNAIRE SECTION OF UNSTARTED PLAN - LEFT

EMPTY (ALL -1*S).)

XKIP: IF Bl = 1, DK/REF (SEF MAY HAVE MORE THAN ONE BRANCH IN THE U.S) OR
PLAN.LOCLNATL = L (MEF LOCAL SUBSAMPLED PLAN), GO TO HGATE1QOV
ELSE GO TO BOX H1

1=HGATEL SIZE=N2
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ASKED IF HGATE1=2 (SKIP SECTION H FOR NOW)

HGATEZ2:
[ ARE YOU SKI PPI NG SECTI ON H BECAUSE { RESPNAME} 1S...]
(1)

1. NOT APPROPRI ATE FOR SECTION H, OR,
2. { RESPNAME} CAN ANSVER QUESTI ONS LATER?

GO TO RESPONDENT*S NEXT SECTION

1=HGATE2,SZE =N2
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ASK HGATE1OV IF B1 =1, DK/REF (SEF MAY HAVE MORE THAN ONE BRANCH IN
THE U.S.)) OR PLAN.LOCLNATL =L (MEF LOCAL SUBSAMPLED PLAN)

SET LDISPLAY =*“at thislocation” IF HGATE1OV =1, ELSE
SET LDISPLAY ="“for your firm” IF HGATE1OV =2, ELSE
SET LDISPLAY =*for {HGATEOTH}” IF HGATE1OV =3, ELSE

HGATE1OV:

The information I need is for the {TADDR} |ocation. Can you tell ne about
the enrollees for this location only, for all of your |ocations, or for sone
ot her group of |ocations?

[IF R CAN ANSWER FOR BOTH THI'S LOCATI ON AND THE FI RM AS A WHOLE, ENTER 1 FOR
THI'S LOCATI ON|

(1) (BOX HL)

1. R CAN ANSWER FOR THI S LOCATI ON ONLY
2. R CAN ANSWER FOR ALL LOCATI ONS
3. R CAN ANSVER ONLY FOR SOVE OTHER GROUP ( SPECI FY) (2)

DK/REF DISALLOWED

1=HGATE1QV, SIZE=N2
2=HGATEOTH,SZE=C25
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BOX
H1

|F (SEF & ENROLMNT ~= MISSING & ENROLMNT <= A1 (SEF
ENROLLMENT <= TOTAL EMPLOYEES) OR (MEF COMPANY
LEVEL (000) & ENROLMNT "= MISSING), GO TO H1

ELSE IF (SEF & (MISSING ENROLMNT OR ENROLMNT >A1))
OR (MEF (ALL LEVELS) & MISSING ENROLMNT), GO TO H2
ELSE IF MEF ESTAB-LEVEL & ENROLMNT ~=MISSING &
SPEN.COBRAOCO "= 1 (MEF COMPANY LEVEL COBRA
ENROLLMENT ~=0), GO TO H3

ELSE GO TO BOX H2
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ASK FOR SEF AND MEF (COMPANY LEVEL, 000).
ASK H1IF MEF COMPANY LEVEL, & PLAN.ENROLMNT *#=MISSING. TO H2OR SEF

PLAN.ENROLMNT <=1 (ENROLLMENT <=TOTAL EMPLOYEEYS)

DISPLAY1: PLAN.ENROLMNT FOR SEF AND MEF.

DISPLAY2: " " FOR SEF, ELSE FOR MEF, "in your COMP_ORG altogether" IF
COMPANY LEVEL (000). IF ESTAB, "at the CURRNAME TADDR location only."

H1. (H1F for MEF conpany level. HLE for MEF establishnent |evel.)

Let ne verify ny records. | have recorded that at the end of {PYEND}, there
were {DlI SPLAY1) enpl oyees enrolled in {PLAN NAME} {DI SPLAY2}

Is this correct?

(1)

1. YES (H3)
2. NO (H2)

DK/REF GO TO H2

1=H1, SIZE=N2

IFH1=1GO TO H3, SET H2NUM = PLAN.ENROLMNT
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ASK FOR SEF AND MEF (COMPANY AND ESTAB LEVLE). ASK H2 IF H1~ =1
(ENROLLMENT NOT VERIFIED) ORENROLMNT=MISSING OR SEFENROLMNT >A1l
(ENROLLMENT > TOTAL EMPLOYEEYS)

DISPLAY1: “ LDISPLAY” FOR SEF, EL SE FOR MEF, " inyour COMP_ORG asawhole"
IF COMPANY LEVEL (000), ELSE, IF ESTAB LEVEL (001, 002...) SHOW "at the
CURRNAME TADDR location only"

H2 (H2F for MEF conpany level. H2E for MEF establishnment |evel.)

At the end of {PYEND}, how many enployees were enrolled in {PLAN NAME}
{DlI SPLAY1}? Do not include retirees or former enployees.

[1F NONE, ENTER O (ZERO]

( 1 ) EMPLOYEES

ALL RESPONSES INCLUDING DK/REF: IF HGATEL = 9 (ASK H2 ONLY), GO TO
RESPONDENT*SNEXT SECTION AFTERSETTING THE FOLLOWING VARIABLESTO(-9)
NOT ASCERTAINED: H3NUM WHEN SPEN.COBRAOCO A= 1 (COMPANY LEVEL COBRA
ENROLLMENT "= 0);

H4NUM WHEN D6 = 1 (RETIREES OVER 65 ELIGIBLE);

H5NUM WHEN D7 = 1 (RETIREES UNDER 65 ELIGIBLE);

H7NUM WHEN PLAN.FAMILY = MISSING (-1, -9) (FAMILY COVERAGE OFFERED NOT
KNOWN):;

HS8NUM WHEN SPEN.FAMLYOCO A= 1 (COMPANY LEVEL FAMILY COVERAGE
ENROLLMENT A= 0)

ELSE | F SPEN.COBRAOCO” =1 (MEF COMPANY LEVEL COBRA ENROLLMENT A=0), GO
TOH3, ELSE GO TO BOX H2

1=H2NUM,SZE=N7,HR: 0TO 9,999,999, SR: 0TO 5,000
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SOFT EDIT: IF SEF & HGATE1OV *=2, 3(CAN ANSWER FOR THISLOCATION) & Al
A= MISSING & H2UNT "= 2 (NOT A PERCENTAGE) & H2NUM > A1 (ENROLLED >
TOTAL EMPLOYEES), SHOW REVERSE VIDEO MESSAGE BELOW. REASK H2. IF
DISCREPANCY RESOLVED, SET CCFLAGH1 =1, ELSE SET CCFLAGH1=2

“THE NUMBER OF EMPLOYEES ENROLLED IN THISPLAN MUST BE LESS THAN
THE TOTAL NUMBER OF EMPLOYEES{AT_LOCAT}”

NOTE: H2NUM ISSET = PLAN.ENROLMNT WHENH1=1(ENROLLMENT VERIFIED)

SHOW H2UNT ASAN OVERLAY TO H2NUM IF 1 <= H2NUM <= 100.

H2UNT. [1S {HZNUM A NUMBER OR PERCENTAGE?]

(2)

1. NUMBER
2.  PERCENTAGE

2=H2UNT, SIZE=N2
H2PCT, SZE = N3, HR: 1 TO 100 NOT SET BY CATI INSTRUMENT, BUT DP
ERRONEQOUSLY ASSIGNED A FEW
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ASK FOR SEF AND MEF (BOTH COMPANY AND ESTAB LEVEL). ASK H3 IF
SPEN.COBRAOCO =1 (MEF COMPANY LEVEL COBRA ENROLLMENT 7= 0)

DISPLAY1: FOR SEF,“LDISPLAY”,ELSE FORMEF,“inyour COMP_ORG altogether"
IF COMPANY LEVEL (000) IF ESTAB (001, 002...) SHOW " .

DISPLAY2: FOR SEF, "?", ELSE FOR MEF, IF ESTAB (001, 002..) "from the
CURRNAME TADDR location only?", ELSE " ?"

H3 (H3 F/E). At the end of {PYEND}, how many forner enployees were
enrol l ed in { PLAN NAME} {DI SPLAY1} t hrough COBRA, or continuation of benefits
| aws { DI SPLAY2}

[IF NONE, ENTER 0 (ZERO)]

(1) FORMER EMPLOYEES

ALL RESPONSES INCLUDING DK/REF GO TO BOX H2

1=H3NUM,SIZE=N7,HR: 0T0O 9,999,999 SR: 0TO 1,000

SET PLAN.COCOBRAO=1IF H2NUM =0 & MEF COMPANY LEVEL (000)

NOTE: H3NUM ISSET NOT ASCERTAINED (-9) WHEN HGATE1 =9 (ASK H2 ONLY)
& SPEN.COBRAOCO "= 1 (COMPANY LEVEL COBRA ENROLLMENT "= 0)
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BOX |IFD6=1(RETIREESOVER 65ELIGIBLE), GO TO H4
H2 ELSEIF D7 =1 (RETIREESUNDER 65 ELIGIBLE), GO TO H5
ELSE GO TO BOX H3
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ASK FOR SEF AND MEF (BOTH COMPANY AND ESTAB LEVEL). ASK H4IFD6=1
(RETIREESOVER 65 ELIGIBLE)

DISPLAY1: FOR SEF, “LDISPLAY", ELSE, FOR MEF, "in your COMP_ORG altogether" IF
COMPANY LEVEL (000). IFESTAB (001, 002...), "from the CURRADDR TADDR location only"

H4 (H4 F/ E). At the end of {PYEND}, how many retirees 65 or older were
enrolled in {PLAN NAVE} {DI SPLAY1}?

[IF NONE, ENTER 0 (ZERO)]

( 1) RETIREES 65 OR OLDER

ALL RESPONSESINCLUDING DK/REF: IF D7=1(RETIREESUNDERG65ELIGIBLE) GO
TOHS5, ELSE GO TOBOX H3

1=H4NUM,SIZE=N7,HR: 0TO 9,999,999, SR: 0TO 5,000

NOTE: H4NUM IS SET NOT ASCERTAINED (-9) WHEN HGATE1 =9 (ASK H2 ONLY)
& D6=1(RETIREESOVER 65 ELIGIBLE)
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ASK FOR SEF AND MEF (BOTH COMPANY AND ESTAB LEVEL). ASK H5IFD7=1
(RETIREESUNDER 65 ELIGIBLE)

DISPLAY1: FOR SEF, LDISPLAY, ELSE, FOR MEF, "in your COMP_ORG as a whole" IF
COMPANY LEVEL (000). IF ESTAB (001, 002...),"from the CURRNAME TADDR location only"

H5 (H5F/ E). At the end of {PYEND}, how many retirees under 65 were enrolled
in { PLAN NAME} {DI SPLAY1}?

[IF NONE, ENTER O (ZERO)]

( 1) RETIREES UNDER 65 (SKIP)

SKIP: IF HANUM > 0 & H5NUM > 0 (RETIREES BOTH OVER AND UNDER 65

ENROLLED) GO TOHG6 ELSE GO TO BOX H3
DK/REF, GO TO BOX H3

1=H5NUM,SIZE=N7,HR: 0TO 9,999,999 SR: 0 TO 5,000

NOTE: H5NUM ISSET NOT ASCERTAINED (-9) WHEN HGATE1 =9 (ASK ONLY H2)
& D7 =1 (RETIREESUNDER 65 ELIGIBLE)
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IF HANUM >0 & H5NUM > 0, ASK H6 (RETIREES BOTH OVER AND UNDER 65
ENROLLED)

DISPLAY1: SUM (H4NUM, H5NUM)

DISPLAY?2: FOR SEF, "LDISPLAY altogether ", ELSE FOR MEF, "in your COMP_ORG as a
whole" [IFCOMPANY LEVEL (000). IFESTAB (001, 002...) "at the CURRNAME TADDR location

only"

H6 (H6 F/E). Let me verify that a total of {DlI SPLAY1l} retirees were

covered under {PLAN NAME} {DI SPLAY2}.
Is that correct?
(1)

1. YES (H?)
2. NO

IFH6 =2, CLEARH4 TO H5 AND RE-ASK, ONE TIME ONLY, SET CCFLAGH2=1.
ALL RESPONSES INCLUDING DK/REF GO TO BOX H3

1=H6,SIZE=N2
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IF H2NUM =0 & H3NUM =0& (HANUM =00OR D6"=1) & (H5NUM =0

ORD77=1) (NO ACTIVE, FORMER OR RETIRED EMPLOYEES

BOX | ENROLLED IN PLAN) SET TEMPORARY FLAG TOTAL ENROLLEES=
H3 | OAND GO TO RESPONDENT*S NEXT SECTION

ELSE IF PLAN.FAMILY = MISSING (-1, -9) (FAMILY COVERAGE

OFFERED NOT YET DETERMINED) GO TO H7

ELSE IF PLAN.FAMILY =1 (FAMILY COVERAGE OFFERED) GO TO
BOX H4

ELSE GO TO RESPONDENT*S NEXT SECTION
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FOR MEF, H7 ISASKED ONLY ONCE AT WHICHEVER LEVEL GETSTHE QUESTION
FIRST. ASK H7 IF PLAN.FAMILY =MISSING (-1, -9) (FAMILY COVERAGE OFFERED
NOT DETERMINED) & TOTAL_ENROLLEES”=0

H7. Did {PLAN NAVE} offer family coverage?

(1)

1. YES (BOX H4)
2. NO (EXIT SECTION H)

DK AND REF GO TO RESPONDENT'S NEXT SECTION

1=H7,SIZE=N2

SET PLAN.FAMILY =H7 IFH6=1,2

IF ENROLMNT >0& SPEN.FAMLYOCO *=1(MEF COMPANY
BOX | LEVEL FAMILY COVERAGE ENROLLMENT *=0) GO TO H8

H4 ELSE IF H3NUM >0 (FORMER EMPLOYEESENROLLED) GO TO
H10

ELSE IF HANUM >0 OR H5NUM >0 (RETIREESENROLLED) GO
TO H11

ELSE GO TO RESPONDENT*S NEXT SECTION

NOTE: H7NUM ISSET NOT ASCERTAINED (-9) WHEN HGATE1 =9 (ASK H2 ONLY)
& PLAN.FAMILY = MISSING (-1, _9) (FAMILY COVERAGE OFFERED NOT KNOWN)
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ASK FOR SEF AND MEF (COMPANY AND ESTAB LEVEL). ASKED IF ENROLMNT >
0& FAMILY =1& SPEN.FAMLYOCO *=1 (COMPANY LEVEL FAMILY COVERAGE
ENROLLMENT * =0) & TOTAL_ENROLLEES"=0

DISPLAY1:
H2NUM IF "= MISSING, ELSE DISPLAY " ".

DISPLAY 2:
“for your COMP_ORG altogether” |IF COMPANY LEVEL (000). IF ESTAB (001, 002...)
“from the CURRNAME TADDR location only”.

H8 (H8 F/E). At the end of {PYEND}, how many of the {DI SPLAY1} enpl oyees
who were covered under this plan were covered by a fam |y policy {D SPLAY2}?

[IF NONE, ENTER 0 (ZERO)]

( 1) EMPLOYEES COVERED UNDER FAM LY POLI Cl ES

DK/REF GO TO RESPONDENT'S NEXT SECTION, ELSE IF H8NUM >0GO TO H9, ELSE
IF H3NUM >0 (FORMER EMPLOYEESENROLLED) GOTOH10, ELSE IF H4ANUM >0 OR
H5NUM > 0 (RETIREES ENROLLED) GO TO H11

1=H8NUM,SIZE=N7,HR: 0TO 9,999,999 SR: 0 TO 10,000

SOFT EDIT: IF H8NUM > H2NUM, SHOW REVERSE VIDEO MESSAGE BELOW.
REASK H8. IF DISCREPANCY RESOLVED SET CCFLAGH3=1,ELSE SET CCFLAGH3
=2

THE NUMBER OF EMPLOYEESWITH FAMILY POLICY MUST BE LESSTHAN THE
TOTAL NUMBER OF EMPLOYEESENROLLED IN THISPLAN {H2NUM}
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SET PLAN.COFAMLYO=1I1F H8NUM =0& MEF COMPANY LEVEL (000)

NOTE: H8NUM ISSET NOT ASCERTAINED (-9) WHEN HGATE1 =9 (ASK H2 ONLY)
& SPEN.FAMLYOCO"=1(COMPANY LEVEL FAMILY COVERAGE ENROLLMENT "=
0)
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SHOW H8UNT ASAN OVERLAY TO H8NUM IF 1 <= H8NUM <= 100.

HBUNT. [1'S {HBNUM A NUMBER OR PERCENTAGE?]

(2)

1.  NUMBER
2. PERCENTAGE

DK/REF GO TO RESPONDENT'S NEXT SECTION, ELSE IF H8NUM >0GO TOH9, ELSE
IF H3NUM >0 (FORMER EMPLOYEESENROLLED) GO TOH10, ELSE IF H4NUM >0O0R
H5NUM >0 (RETIREESENROLLED) GO TO H11

2=HB8UNT, SIZE=N2
H8PCT, SIZE=N3,HR: 1 TO 100 NOT ASSIGNED BY CATI INSTRUMENT, BUT DP
ERRONEQOUSLY ASSIGNED A FEW
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ASK FOR SEF AND MEF (BOTH COMPANY AND ESTAB LEVELS). ASK H9IF H8NUM >
0 (ACTIVE EMPLOYEES COVERED BY FAMILY POLICY > 0)

DISPLAY1: FOR SEF, LDISPLAY, ELSE FOR MEF, "in your COMP_ORG altogether"
IF COMPANY LEVEL (000). IF ESTAB (001, 002...) "at the CURRNAME TADDR

|ocation"

H9 (H9 F/ E). Al'together, how many dependents of active enployees

{DI SPLAY1} were covered under this plan at the end of {PYEND}?

[IF NONE, ENTER O (ZERO)]

( 1) DEPENDENTS OF ACTI VE EMPLOYEES

DK/REF GO TO RESPONDENT'S NEXT SECTION, ELSE IF H3NUM > 0 (FORMER
EMPLOYEES ENROLLED) GO TO H10, ELSE IF H4NUM > 0 OR H5NUM > 0

(RETIREESENROLLED) GO TO H11

1=HONUM,SIZE=N7,HR: 0TO 9,999,999 SR: 0TO 1,000
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ASK FOR SEF AND MEF (COMPANY AND ESTABLISHMENT LEVEL). ASK H10 IF
H3NUM >0 (FORMEREMPLOYEESENROLLED) & FAMILY =1(FAMILY COVERAGE

OFFERED)

DISPLAY1: FOR SEF,LDISPLAY, ELSE, FOR MEF, "inthe COMP_ORG altogether" IF
COMPANY LEVEL (000). IF ESTAB (001, 002...) " from the CURRNAME TADDR location

only"

H10. At the end of {PYEND}, how nmany dependents of forner enployees were
covered under {PLAN NAME} through COBRA { DI SPLAY1}?

[IF NONE, ENTER 0 (ZERO)]

( 1 ) DEPENDENTS OF FORMER EMPLOYEES

ALL RESPONSES INCLUDING DK/REF GO TO H11 IF H4NUM >0 OR H5NUM > 0
(RETIREES ENROLLED), ELSE GO TO RESPONDENT*S NEXT SECTION

1=H10, SIZE=N7,HR: 0T0O 9,999,999 SR: 0TO 1,000
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ASK FOR SEF AND MEF (BOTH COMPANY AND ESTAB LEVEL). ASK H111F H4ANUM
OR H5NUM > 0 (RETIREES ENROLLED) & FAMILY =1 (FAMILY COVERAGE

OFFERED)

DISPLAY1: FOR SEF, LDISPLAY, ELSE FOR MEF, "in your COMP_ORG altogether"
IF COMPANY LEVEL (000). IF ESTAB (001, 002...) "from the CURRNAME TADDR

location only"

H11. At the end of {PYEND}, how many dependents of retirees were covered
under {PLAN NAME} {DI SPLAY1}?

[1F NONE, ENTER O (ZERO]

( 1) DEPENDENTS OF RETI REES

1=H11,SIZE=N7,HR: 0TO 9,999,999, SR: 0TO 1,000

GO TO RESPONDENT'SNEXT SECTION

k:\nehis\quex\final\combo-h.doc
MEF/SEF H-23



SECTION H APPENDIX I

SPEN.COBRAOCO

SPEN.FAMLYOCO

SPEN.HAGG

SPEN.HAGGLINK

SPEN.HGATE1OV

SPEN.H2ALLEN
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No employees had COBRA coverage at the firm level (mef only)
Variable added.
Values;
-1 Default, nofirm level section H or H3NUM ~=0 at firm level
1 H3NUM =0at thefirm level

No employees had family coverage at the firm level (mef only)

Variable added.

Values:
-1 Default, no firm level section H or HBNUM ~=0 at firm level
1 H8NUM =0 at thefirm level

Enrollment figures are aggregate (include other plans)
Variable added.
Values:
-1 Default, these figures are not aggr egate
1 Theenrollment numbersfor thisplan (most specifically H2NUM) include
2 Theenrollment numbersfor thisplan wereincluded in another plan
3 Theenrollment numbersfor thisplan include other plansthat were not
4  Theaggregate enrollment numbersfor this plan have been reviewed and
5 Theaggregate enrollment numbersfor this plan have been reviewed, no
Note: The HAGG flag was used when other PLANS were included in the enrollmen
numbers provided, see HGATE1OV if other ESTABLISHMENTS were included.
Note: Asof April 20, 1995, all HAGG flags should only have values of -1, 4, or 5.

SPEN that holds the aggregate enrollment figures

Variable added.
Values:
-1 Default, no enrollments wer e flagged as aggr egate
000001 - SPEN.ESTBNUM + SPEN.PLANNUM pointsto aggregate

Note: HAGGLINK should be filled on any SPEN when HAGG "= -1.
Note: HAGGLINK was left unchanged for all SPENswith HAGG =4 or 5.

Are these enrollment numbers for this establishment or the firm as a whole?
HGATE1OV was set to " firm as a whole" or " some other level" based on notes
left by theinterviewer. HGATEL1OV was set regar dless of previousresponsesin
and the skip (HGATE1OV = -1 IF B1 = 2) was knowlying disr egar ded.

H2NUM is all enrollees, not just active employees
Variable added.
Values:
-1 Default, H2NUM is active employees enrolled in the plan
1 H2NUM representsall enrollees, not just active employees
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SPEN.H3NUM

SPEN.H5NUM

SPEN.HSALLEN

SPEN.H9ALLEN
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Number of former employees covered under COBRA

When arespondent was unable to answer for the number of COBRA enrollees
from the number of retireesenrolled, then the total of COBRA and retirees was
H4NUM (retirees OVER 65 enrolled) and H3NUM was coded as zero.

Number of retirees under 65 enrolled in the plan

When arespondent was unable to answer for the number of retirees UNDER 65
separ ately from the number of retirees OVER 65 enrolled, then the total number
retireeswas coded in HANUM (retireesOVER 65 enrolled) and H5NUM was cod

H8NUM is all enrollees with family coverage, not just active employees
Variable added.
Values:

-1 Default, HBNUM is active employees with family coverage

1 H8NUM representsall enrollees with family coverage, not just active

HONUM is dependents of all enrollees, not just active employees
Variable added.
Values:
-1 Default, HONUM isonly dependents of active employees
1 HONUM represents dependents of all enrollees, not just active employe
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